B

i &% M AR

E25ELEREFRBERSTE—TYMNR—ILRR-FETOY I FES No.1

# & B| $meF2R18H (\B) | kickoff [ 1230 | R & B SB | 14
= 5 WHBELSLAESIE—15 JISUURNREE| 2R
X = % $E25EILEEEFERERSTE—DJ Vb R—ILAS - RFETOVITHES A ' OAl| R
LoV —&a0 2R = ( FEfEms )|7DZ’5"JI~I/7'J—% wi INRIL BE | we Mk HFE O [« FL E—
#am 30 4n—72
. (7 1= 14 ] o=
ESE] 12 N 27 ARBEE
(B =131
T G PT PG DG T G PT PG DG
1 1 0 0 0 B 2 2 0 0 0
1 0 0 0 0 s 1 1 0 2 0
R » | ERmmE B A is
T BE BE 2 ] ¥5 e 2 rI¥Kick off:EREZEE/ %&FKick off:E&E
z iu;;% EE ; :? gi f_,;%“ 2 (T:}54 PT:NH74-}51 PGIN HA74-1" - DG:F D97 T -h G:T -ME3h Gx:I -IRMREH)
A=K 2 4| WA SRX 2 . %03
AR 21 W ST B > 8 ) A RS2
(o) R KH# 2 6| LA HE\E 2 No. Name FEr TIME No. Name /=
7] AR BA 1 7| B T=H 2 No. Name ik SCORE No. Name s
8| 1BH B¥ 2 8| IR EI 2 B 109 2 HE 8 T
9| TmE BB oy 0 Klg 1% 2 0 - 7 |15 #HHF BN G
NEE 1 10| RHE ZR 2 7 mAE BA T B 235
n| A % 2 1| Bk SEX 2 15 2% EE G 7 - 7
12| HlF b 2| g |2 Bin e 2 B 269 14 AF EE T
13| b BERR 1 13 REF K 2 7 - 14115 #HF 2N G
14| BEE K 2 14 AfE EE 2 ®BE 15 2 oERE B T
15| ER EE 2| FB |5 #HH J=N 2 7 - 21115 #HF 2N G
16| fhEE K& 2 16| TEH RE 2 7 BAE BA T e 7S
17| FEE Em 1 17| &8 BAHR 2 15 g2 OEE Gx |12 - 21
18| FH JEi 1 18] O BX 2 ®E 109 15  #H 2N PG
19| BEX i 2 19 FHl K& 2 12 - 24
20 EH FH¥& 2| Rpg [0 B PAKER 2 ®BE 175 15 wH BN PG
21| BER #E& 1 21| Il B 2 12 - 27
22| EH =Z(Z 1 22| K EIE 2 KLIFRE»
23] mR 8A 2 23] AME HE 1
24| Al BE 1 24| AB F&H 2
25| BEm KE 2 25|  KIE 1BE: 2
BB (N B0 No. Al AE BB N Bl No. &dl
B 190 3 #K #F > 18 ME B 1 % 19l 4 LE RK > 16 BE RfF
% 219l 7 BR BA > 20 LA & 2 #% 219l 5 N R > 19 H A®
#% 215 8 #®E BT - 23 i RA 3 % o23pi 1 FEEH > 17 s6 6Am
1% 259 9 8 A — 19 &HF #H 4 % 235 3 24 ¥8 - 18 B0 #K
N 5 % 239 9 B A% > 21 Pl B
- 6 1% 23513 #®F wR > 23 X HE
> 7 % 239114 XM BE > 24 XB ¥
- 8 -
A N AB No. &A1 | BBRE | B8 N &R No. A0
> 1 % 209123 RfE HE > 22 Bk BE
- 2 -
- 3 -
- 4 -
- 5 -
®8 N &R No. &A1 | —HERE | B N &A No. A0 _
N 1 - PK FK I3 0] PK FK
- 2 - 3 1 ﬁTJ_ 5’5 5 O
- 3 - 5 0 %’ ¥ 4 0
- 4 - 8 1 & 5t 9 0
- 5 =l
B N BEI BB KN B ﬁ—F‘I/Mﬁ B N BEI |mEl KA B kog— TN SREE =g 3
2 Lou— | R = REFE Ak A




